1. Brass has a density of 8.40 g/cm® and a specific heat of 0.385 J/g°C. A 15_2211_13 piece of brass at an imitial
temperature of 163°C is dropped into an mnsulated container with water initially at 23°C. If the final temperature of
the brass-water mixture 1s 50°C, what 1s water mass? (specific heat of water 4.18 J/g°C)

a)27.22 1b)35.24 @ d) 52.52 e) 61.07
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2. A 0.288 g sample occupies a volume of 131 mL at 24.8°C and 753 mmHg. What is the molecular weight of this

sample?
a)54.18 ) b) 6332 ) 71.09 d) 80.12 ) 4527
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3. Which 1s false for the neutralization reaction between H,SO4 and AI(OH) 3?7 l
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‘;ﬁhe produced salt 1 1 \){HSOJ, exhibits acidic ropemes
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./(f Al(OH)s exlnbxts basic (alkaline) properties. T
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H’)/6moles of water are produced in the consumption pf 2 moles Al(OH)s.

A3 moles of Al(OH); are required for the 2 mol of H,SO4 consumption. P”' 3 A
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4. What 1s the stoichiometric ratio of Ba(OH)> to HCI 1n an acid-base titration?

b)1 )15 d)2 e)25
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Does the gas do work? (Ne: 20.18 g/mol)

a) -275.73 b)-120.45 d) 120.45 e) 275.73
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By using the three reaction, find the las t reactions AH=?

2 CHyOH(g) + 3 0p(9)— 2C0,(a)+4H0(9) AH=-1353k)

HaCO(g)+ Oa(g) — Hy0(q) + CO(g) AHE-320 k)

2Ha(g)+ 02(9)—> 2H,0(q) AH=-484 kJ

CH30H{g) —= H,CO(g) + H,(9) bH=H —
a)—8  b)86 ¢)—120 d) 235 e)—235




